
STEP 1

STEP 2

FINAL

NQ-RMK04
Nyquist Appliance
Joining Bracket Kit

I N S T A L L A T I O N  G U I D E

www.bogen.com
Specifications are subject to change.
©2018 Bogen Communications, Inc.
740-00058A    1806

UNIT 1

UNIT 1

UNIT 2

UNIT 2

UNIT 1

UNIT 2

A1 A2A2

B

A1 A2A2

A1

A2A2B

BRACKET
ASSEMBLY
COMPLETED

STEP 1: Attach Left Side Bracket (A1) to side
of UNIT 1 using three M3 sheet metal screws.
Attach Right Side Bracket (A2) to side of UNIT 2
using three M3 sheet metal screws.

STEP 2: Bringing both units together, position
Support Bracket (B) between both units and
secure using four M4 machine screws into the
Left (A1) and Right (A2) Side Brackets.

FINAL: Both units shown properly installed
as a completed Joining Bracket assembly.
CAUTION- Joining Bracket assemby must be
installed as shown.

JOINING BRACKET KIT INCLUDED ITEMS:
A1: Left Unit Side Bracket, three (3) M3 sheet
       metal screws
A2: Right Unit Side Bracket, three (3) M3 sheet
       metal screws
B: Support Bracket, four (4) M4 machine screws 


